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The SAQ (Short Answer Question)
• ALL questions/essays on the exam are stimulus-based (responding to a 

primary/secondary source, including texts, images, charts, graphs, maps, etc.).

• There are 3 SAQs on the APWH Exam – You have 40 minutes to complete all 
three questions – 20% of the exam score. (Spend no more than 12 minutes on 
each SAQ)

• Each SAQ has 3 parts, A, B, C. Each part is worth 1 point. – So, each SAQ is worth 
3 points.

• For the SAQ there is NO thesis – JUST ANSWER THE QUESTION. 



From the College Board…



• Get in, answer with evidence, get out – NO thesis – JUST ANSWER THE QUESTION. 

• Must be in complete sentences. (bullet points = zero points)

• Don’t quote! If prompt asks you to explain a quote, use your own words

• Cite specific evidence to back up your claim.

• Refer to the prompt & stimulus (map, chart, image, passage) in your answer.

• For each part (A, B, C), respond in only 2-4 sentences, but be SPECIFIC with your 
evidence & REFER the prompt AND to the stimulus in your answer. [“THE SOURCE 
{e.g. map} SHOWS…” WHAT and WHY/BECAUSE]

• You MUST address the stimulus  If the question gives you a chart & asks: 
“Identify & explain one cause of curly hair”  Actually write: One cause of curly 
hair is genetics. Chart #1 shows this …. BECAUSE…(Be SPECIFIC with evidence). 

The SAQ (Short Answer Question)



• Follow this format for each section (A, B, C):

•A: Answer the question (this is your claim)
•C: Cite specific factual evidence (refer to stimulus & 

outside info.)
•E: Explain how the evidence proves your claim

How to Answer… ACE IT!



• Use the charts below and your knowledge of biology to answer all parts of the question 
that follows.

• A. Identify and explain ONE cause of curly hair.

• ANSWER: One cause of curly hair is genetics. As chart 1 shows, curly hair is inherited by 
parents through their genes. This is because….

Chart 1 Chart 2

Example



A.) Provide ONE piece of historical 
evidence (not specifically 
mentioned in the passages) that 
would support Powaski’s 
interpretation about the origins of 
the Cold War. 

B.) Provide ONE piece of historical 
evidence (not specifically 
mentioned in the passages) that 
would support Levering and 
Botzenhart-Viehe’s interpretation 
about the origins of the Cold War. 

C.) Explain ONE way in which the 
views of the Russian-American 
relationship expressed in the two 
passages led the authors to 
propose different interpretations 
for the origins of the Cold War. 

Another Example…



• You have a restricted box to write in your answer to each question. 
This is the one time you don’t go outside the box.

• Skip a line between A, B, & C responses. (Write A, B, & C)

The SAQ (Short Answer Question)



Short Answer Question (SAQ) – Part A & Part B

(3 questions in 40 minutes! 20% of the AP Exam)

Writing time: 40 minutes (Take NO more than 12 minutes on each question).

Directions: Read each question carefully and write your responses in the corresponding boxes on the free-

response answer sheets.

Some questions have multiple parts. Be sure to answer ALL parts of every question. Use complete sentences; an 

outline or bulleted list alone is NOT acceptable. You may plan your answers in this exam booklet, but ONLY your 

responses in the corresponding boxes on the free-response answer sheets will be scored. ACE it! (no more than 

2-4 sentences per question part A, B, & C) (get in, answer, get out – NO thesis)

BE specific

Sources have been edited for the purpose of this exercise.

https://www.youtube.com/watch?v=XC1eb_uFlCU
https://www.youtube.com/watch?v=W47YbukmGuU


Short Answer Question (SAQ) Example Prompts

by tested HRS – Analyzing Secondary Sources

1. Using the passages and your knowledge of World History, answer parts A, B, & C. 

A. Briefly explain ONE _______________ policy that is reflected in passage #1.

B. Identify and explain ONE _______________ policy that is reflected in 

passage #2. 

C. Briefly explain ONE opposing viewpoint expressed in passage #1 and 

passage #2. 

Reading Passages – such as 2 book excerpts by different historians. 

(Secondary Source)



Short Answer Question (SAQ) Example Prompts

by tested HRS – Comparison

1. Using the map and your knowledge of World History, answer parts A, B, & C. (secondary source)

A. Identify and explain ONE important similarity between _______________ and ________________.

B. Briefly explain ANOTHER important similarity between ____________ and ______________. 

C. Briefly explain ONE difference between _____________ and ______________. 

1. Using your knowledge of World History, answer parts A, B, & C. (NO stimulus)

A. Identify and explain ONE important similarity between _______________ and ________________.

B. Briefly explain ANOTHER important similarity between ____________ and ______________. 

C. Briefly explain ONE difference between _____________ and ______________. 



Short Answer Question (SAQ) Example Prompts

by tested HRS – Change & Continuity over Time (CCOT)

3. Using the passage and your knowledge of World History, answer parts A, B, & C. (primary source)

A. Briefly explain ONE example of how _______________ brought changes to __________ in the 

period _______ to ______.

B. Identify and explain a SECOND example of how _______________ brought changes to __________ 

in the period _______ to ______. 

C. Briefly explain ONE example of how _______________ resisted change (remained the same) to 

__________ in the period _______ to ______. 

3. Using the image and your knowledge of World History, answer parts A, B, & C. (primary source)

A. Briefly explain ONE example of how _______________ brought changes to __________ in the 

period _______ to ______.

B. Identify and explain a SECOND example of how _______________ brought changes to __________ 

in the period _______ to ______. 

C. Briefly explain ONE example of how _______________ resisted change (remained the same) to 

__________ in the period _______ to ______. 



SAQ RUBRIC – How Points are earned

• 3 points possible on EACH of the 3 questions for a 

MAX of 12 points on the SAQ section of the exam.

• Example: Question 1

• FULLY answered A – 1 point (You ACEd it)

• FULLY answered B – 1 point (You ACEd it)

• FULLY answered C – 1 point (You ACEd it) 

• You missed A, but ACEd B & C  2 points

• You ACEd A, but missed B & C  1 point



What good responses will include (from the College Board)


